fit 4 1-3-1

ARBIGEARNZINNESFEZLESZEIHH—FX

£a3/# 8 (& #) BIE B B2 (A) X
X & E s | 28 |REHE |[BFTH
P s | R an | B/ | anx |RER K
BERFB gy |EXO| . 22| o | aym | HR@| weE | T, | B | (CMB/ | gi8i% |R#@A
T meER | T D g | BRF ® Bxe | @B |(8&H |(#AEx
Ex = 2 (@B) %,
@— 6 1 4 6 3 3 23|110.7.5
= 6 1 4 6 3 3 23|110.7.5
= 5 1 1 4 3 3 3 2 3 4 29(110.7.5
S el 5 ] 1 3 3 3 3 3 3 4 29[110.7. 5
E3 5 1 1 4 3 3 4 3 3 5 32[110.7.5
2 5 1 1 4 3 3 4 3 3 5 32|110.7.5
BRIl AR ERHFET] > HMAREFF BT HT -
2. DA TRERRBEMEAT R T ERHES -
RN x&ulmwwwquv\% HFEAE WTMMWMWM:MWW Rk : W‘W.\..H\%.‘muﬂn_




